
0 500 1000 1500 2000
0

0.5

1

B
ajk
* , a=1

0 500 1000 1500 2000

0.6
0.8

1

B
ajk
* , a=4

0 500 1000 1500 2000
−0.5

0

0.5

U
bjk
* , b=5

0 500 1000 1500 2000
0

0.05

0.1

λ
ijk

, i=18

0 500 1000 1500 2000
0

0.1

0.2

φ
bjk

, b=5

0 500 1000 1500 2000
0

1

2

ψ
ajk

, a=1

0 500 1000 1500 2000
0

200

400

(ν
jk
λ )2

0 500 1000 1500 2000
0

200

400

(ν
jk
φ)2

0 500 1000 1500 2000
0

20

40

(ν
aj
ψ)2, a=1, j=5

0 500 1000 1500 2000
0

0.5

1

π
aj

, a=1, j=5

 

 

Trace plot, j=5, k=5, Normal data, simulation run 8

Postereior mean Credible interval True value


